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Part-II 

SYRIAC 
Maximum : 80 Scores 

 

 

I. Qualify the nouns and make meaningful sentences :  (4 × 1 = 4) 

    

  .1  .1 

  .2  .2 

  .3  .3 

  .4  .4 
 

II. Fill in the blanks with correct word and complete the sentences : (4 × 1 = 4) 

  

  .5  .5 

  .6  .6 

  .7  .7 

  .8  .8
  

General Instructions to Candidates : 

 There is a ‘Cool-off time’ of 15 minutes in addition to the writing time 2½ hrs. 

 Read questions carefully before answering. 

 All Questions are compulsory and only internal choice is allowed. 

 When you select a question, all the sub-questions must be answered from the same 
question itself. 
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III. The following is a conversation. Complete it with proper phrases.  (4 × 1 = 4) 
  

  .9

  .10 
  

  .11 
  

  .12 
 

  

  .9 
  

  .10 
  

  .11
  

  .12 
 

IV. Provide different forms of   to get verbal meaning. (4 × 1 = 4) 

         

  .13  .13 

  .14  .14 

  .15  .15 

  .16  .16 
 
V. Write meaningful sentences using the hints. (2 × 2 = 4) 
   

  (a) .17 

  (b)  
 

  (a) .18    

  (b)  
 

  (a) .17 
   

  (b)  
 

  (a) .18 
   

  
(b)
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VI. Rewrite the sentences using the gedhamated forms : (3 × 2 = 6) 
   

  (a) .19 
   

  (b)  
 

    

  (a) .20 
   

  (b)  
 

   

  (a) .21 
   

  (b)  
 

  (a) .19 
   

  (b)  
 
   

  (a) .20 
   

  (b)  
 

  (a) .21 
   

  (b)  
 
VII. Translate into English any three of the following : (3 × 2 = 6) 
   

  (a) .22 
   

  (b)  
   

  (a) .23 
   

  (b)  
   

  (a) .24 
   

  (b)  
   

  (a) .25 
   

  (b)  
   

  (a) .26 
   

  (b)  
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  (a) .22 
   

  (b)  
   

  (a) .23 
   

  (b)  
   

  (a) .24 
   

  (b)  
   

  (a) .25 
   

  (b)  
   

  (a) .26 
   

  (b) 
 
VIII. Add pronominal suffixes to any two of the following : (2 × 5 = 10) 

  .30  .29  .28  .27 

  .30  .29  .28  .27 
 
IX. Conjugate any two of the following in the past tense :  (2 × 5 = 10) 

  .34  .33  .32  .31 

  .34  .33  .32  .31 
 
X. Comment on any two of the following :  (2 × 6 = 12) 

  .35  .35 

  .36  .36 

  .37  .37 

  .38  .38 
 

XI. Make notes on any four of the following :  (4 × 4 = 16) 
  

 39. Coonan Cross Oath. 

 40. Syriac Inscriptions in Kerala are valid proof for the antiquity of Syriac tradition. 

 41. How did the Second Syrian Immigration helped the growth of Syriac culture in 
Kerala ?  

 42. Relation between the Persian tradition and the Malabar. 

 43. Syriac Karshon (Garshuni). 

 44. Impact of Synod of Diamper on the Syriac Language. 
_____________ 




